REQUES QUOT <i>A</i>		
No.	9612	
DUE DATE	NO LATER THAN	1
6/2/09	3 p.m.	

## TROY SCHOOL DISTRICT

1140 RANKIN, TROY, MICHIGAN 48083 248-823-4052

FAX: 248-823-4077

**DATE** 5/18/09

#### REQUEST FOR QUOTE – NOT AN ORDER

THIS FORM MUST BE UTILIZED WHEN RESPONDING TO THIS REQUEST BID ENVELOPE ENCLOSED

			BID ENVELOPE ENCLOSED			
THE R	FQ NUMBE	R MUST APPEAR	ON ALL QUOTATIONS AND RELATED CORRESPONDENC	<mark>E, THIS IS NOT AN</mark>	ORDER	
Quantity		UNIT PRICE	AMOUNT			
	Please sup CARTS					
		Co	ppies of the bid are available at:			
	ww	w.troy.k12.mi.us	/purchasing/items_out_for_bid.htm (left column)			
		E	Bid recaps will be available at:			
	ww	w.troy.k12.mi.us/	ourchasing/items_out_for_bid.htm (right column)			
	FACSIM	MILE BID IS	NOT ACCEPTABLE			
	Bids will not be bidders. The la Board of Educa Proposal for the is not clearly no					
	The Board of Education					
	'	THIS A	REA MUST BE FILLED IN			
DELIVERY TIMI	<u> </u>	PRICES FIRM FOR	NAME OF COMPANY	TELEPHONE NO.		
TERMS		<u> </u>	NO. & STREET	FAX#		
FOB DELIVERED	ALL DELIVERY MUST BE INCLUDED	CHARGES IN PRICES SHOWN	CITY, STATE & ZIP CODE	E-MAIL		
	SON (PLEASE P		SIGNATURE	DATE		

**Note:** All bidders are specifically reminded that a completed Affidavit of Bidder (Familial Disclosure) MUST be completed and submitted with the bid response. Failure to include a completed copy will be grounds for disqualification of bid. The Affidavit of Bidder is required to be notarized for construction bids only. All others only require completion and signature.

#### **AFFIDAVIT OF BIDDER**

The undersigned, the owner or authorized of (the "Bidder), pursuant to the familial disclosure reconstruct" (the "School District") advertise represent and warrant except as provided below between the over(s) or any employee of and any mer School District or the Superintendent of the School	quirement provided in the ment for construction bids, hereby , that no familial relationships exist
List any Familial Relationships:	
	BIDDER:
	By:
STATE OF MICHIGAN ) )ss. COUNTY OF)	Its:
This instrument was acknowledged before me on the by	
	,Notary Public
	County, Michigan
	My Commission Expires:
	Acting in the County of:

QTY	MODEL#	DESCRIPTION	UNIT COST
8	3520-GM-C	Bretford Cart on Casters	
		(RED Trim)	
8	3520-GM-L	Bretford Cart on Casters	
		(GREEN trim)	
8	3520-GM-T	Bretford Cart on Casters	
		(BLUE trim)	
8	3520-GM-Q	Bretford Cart on Casters	
		(GRAY trim)	
32	USKD-GM	Bretford Keyboard Tray	
32	CFPS	Bretford Power Strip	
1		Freight charges	

### **Delivery to:**

Troy School District Service Center 4420 Livernois Troy, MI 48098

Company			
Address			
Citv	State	Zip	

		: Lakes edia Sply	Aves Audio/Visual Systems		Troxell		B & H Photo		Ace Office Supplies	
Qty Description	Unit Cos		Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
8 Bretford Cart - Red Trim	193.4	1,547.20	199.61	1,596.88	200.00	1,600.00	206.00	1,648.00	204.75	1,638.00
8 Bretford Cart - Green Trim	193.4	1,547.20	199.61	1,596.88	200.00	1,600.00	206.00	1,648.00	204.75	1,638.00
8 Bretford Cart - Blue Trim	193.4	1,547.20	199.61	1,596.88	200.00	1,600.00	206.00	1,648.00	204.75	1,638.00
8 Bretford Cart - Gray Trim	193.4	1,547.20	199.61	1,596.88	200.00	1,600.00	206.00	1,648.00	204.75	1,638.00
32 Bretford Keyboard Tray	59.9	1,919.36	61.80	1,977.60	63.00	2,016.00	62.04	1,985.28	63.95	2,046.40
32 Bretford Power Strip	50.2	1,608.00	51.76	1,656.32	53.00	1,696.00	52.10	1,667.20	53.95	1,726.40
Freight		-		-	i	ncl		incl.		incl.
TOTAL		9,716.16		10,021.44		10,112.00		10,244.48		10,324.80

City Animation: No Response Corporate Express: No Response

	VSC	lnc.	Global Gov Ed Solutions		Dew-El		Alfax Furniture		GovConnection	
Qty Description	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
8 Bretford Cart - Red Trim	199.96	1,599.68	206.52	1,652.16	217.94	1,743.52	221.38	1,771.04	231.65	1,853.20
8 Bretford Cart - Green Trim	199.96	1,599.68	206.52	1,652.16	217.94	1,743.52	221.38	1,771.04	231.65	1,853.20
8 Bretford Cart - Blue Trim	199.96	1,599.68	206.52	1,652.16	217.94	1,743.52	221.38	1,771.04	231.65	1,853.20
8 Bretford Cart - Gray Trim	199.96	1,599.68	206.52	1,652.16	217.94	1,743.52	221.38	1,771.04	231.65	1,853.20
32 Bretford Keyboard Tray	65.09	2,082.88	67.06	2,145.92	67.60	2,163.20	67.51	2,160.32	71.02	2,272.64
32 Bretford Power Strip	59.05	1,889.60	56.91	1,821.12	56.62	1,811.84	57.22	1,831.04	59.49	1,903.68
Freight		100.00		-		incl	i	incl.		
TOTAL		10,471.20		10,575.68		10,949.12		11,075.52		11,589.12

	School S	necialty	SDF Prof Computers		A1 Business Products		OM Office Supply		Kurtz E	Bros	
Qty Description	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	
8 Bretford Cart - Red Trim	228.36	1,826.88	234.99	1,879.92	249.00	1,992.00	253.25	2,026.00	259.50	2,076.00	
8 Bretford Cart - Green Trim	228.36	1,826.88	234.99	1,879.92	249.00	1,992.00	253.25	2,026.00	259.50	2,076.00	
8 Bretford Cart - Blue Trim	228.36	1,826.88	234.99	1,879.92	249.00	1,992.00	253.25	2,026.00	259.50	2,076.00	
8 Bretford Cart - Gray Trim	228.36	1,826.88	234.99	1,879.92	249.00	1,992.00	253.25	2,026.00	259.50	2,076.00	
32 Bretford Keyboard Tray	80.75	2,584.00	86.90	2,780.80	78.50	2,512.00	80.30	2,569.60	82.30	2,633.60	
32 Bretford Power Strip	59.61	1,907.52	53.10	1,699.20	66.35	2,123.20	67.55	2,161.60	69.25	2,216.00	
Freight		incl.	i	incl		180.00		-		184.00	
TOTAL		11,799.04		11,999.68		12,783.20		12,835.20		13,337.60	

Qty Description	Office Express Unit Cost Total		K-Log Unit Cost Total		EDC System Unit Cost Total		Business Services Unit Cost Total		Aprisa Technology Unit Cost Total	
8 Bretford Cart - Red Trim	274.00	2,192.00	259.00	2,072.00	319.00	2,552.00	319.99	2,559.92	678.88	5,431.04
8 Bretford Cart - Green Trim	274.00	2,192.00	259.00	2,072.00	319.00	2,552.00	319.99	2,559.92	678.88	5,431.04
8 Bretford Cart - Blue Trim	274.00	2,192.00	259.00	2,072.00	319.00	2,552.00	319.99	2,559.92	678.88	5,431.04
8 Bretford Cart - Gray Trim	274.00	2,192.00	259.00	2,072.00	319.00	2,552.00	319.99	2,559.92	678.88	5,431.04
32 Bretford Keyboard Tray	86.00	2,752.00	89.00	2,848.00	90.00	2,880.00	99.99	3,199.68	115.68	3,701.76
32 Bretford Power Strip	73.00	2,336.00	75.00	2,400.00	73.00	2,336.00	79.99	2,559.68	76.28	2,440.96
Freight				995.20		incl		-		incl
TOTAL		13,856.00		14,531.20		15,424.00		15,999.04		27,866.88